Maytag MFX80PNAVS 14 - FRAME & COVER ASSEMBLY

Maytag Residential Maytag MFX80PNAVS Washer P

Item

001
002
003
004
005
006
007
008
009
010
011
012
013
014
015
016

Click on the part number to view part

Original Part Number Replaced By

23001763
23001765
NLA
23001767
NLA
23001749
23001769
NLA
NLA
23001566
23001088
NLA
23001053
23001056
23001054
NLA

23002473

Status

Not Available

Not Available

Not Available
Not Available

Not Available

Not Available

arts Parts Diagram 14 - FRAME & COVER ASSEMBLY

Part Description

Frame

Front Panel Assembly
SUPPORT, FRONT PANEL
Panel, Front

SHEET, ANTIVIBRATION
Screw

Soap Box Cover Assembly
PLATE, SOAP BOX COVER
HOLDER, READ RELAY
Switch, Magnetic

Rubber, Protective

BOLT (M3X12)

Nut

Ring, Shaft Locking
Washer, Locking

LID, SOAP BOX COVER


http://www.pwslaundry.com/c-504126-residential-maytag-mfx80pnavs-washer-parts-for-repair-service
http://www.pwslaundry.com/i-10405476-maytag-23001763-washer-frame.html
http://www.pwslaundry.com/i-10405477-maytag-23001765-washer-front-panel-assembly.html
http://www.pwslaundry.com/i-10405478-maytag-23001767-washer-panel-front.html
http://www.pwslaundry.com/i-10405479-maytag-23001749-washer-screw.html
http://www.pwslaundry.com/i-10405480-maytag-23001769-washer-soap-box-cover-assembly.html
http://www.pwslaundry.com/i-10404341-maytag-23001566-washer-switch-magnetic.html
http://www.pwslaundry.com/i-10404543-maytag-23002473-washer-rubber-protective.html
http://www.pwslaundry.com/i-10404091-maytag-23001053-washer-nut.html
http://www.pwslaundry.com/i-10406378-maytag-23001056-washer-ring-shaft-locking.html
http://www.pwslaundry.com/i-10406343-maytag-23001054-washer-washer-locking.html

017
018
019
020
021
022
023
024
025
026
027
028
029
030
031
032
033
034
035
036
037
038
039
040
041
042
043
044
045
046
047

23001075
23001078
23001567
23001774
23002212
NLA

NLA

NLA
23001580
23001582
23001264
23001263
23001265
23001266
23002211
23001551
23001361
23001056
23001552
23001550
23001555
NLA
23001093
23002185
BLANK
23002187
NLA
23002190
23001550
NLA
23001550

23002331
23002331

Not Available
Not Available
Not Available

Not Available

Not Available

Not Available
Not Available

Not Available

Contactor, Central Stop
Contactor, Central Stop
Sheet, Anti-Vibration
Cover, Emergency Stop
Bushing Nut
COVER-REAR
CLAMP, REAR COVER
BOLT (M6X12)

Washer

Washer

Bolt M8x20

Washer

Washer

Nut M8

Swivel, Cable

Gutter, Cable

Bolt

Ring, Shaft Locking
Rivet, Blind

Sticker, Service Warning
Bolt

LABEL (ELECTRIC HEATING)
Shield, Emergency Stop
Shield, Primus
PACKING, MULTI-PURPOSE
Bolt, Firing

COVER, STEAM INLET
LABEL, ENGLISH
Sticker, Service Warning
LABEL, STEAM

Sticker, Service Warning


http://www.pwslaundry.com/i-10404664-maytag-23002331-washer-contactor-central-stop.html
http://www.pwslaundry.com/i-10404664-maytag-23002331-washer-contactor-central-stop.html
http://www.pwslaundry.com/i-10406401-maytag-23001567-washer-sheet-anti-vibration.html
http://www.pwslaundry.com/i-10405481-maytag-23001774-washer-cover-emergency-stop.html
http://www.pwslaundry.com/i-10406902-maytag-23002212-washer-bushing-nut.html
http://www.pwslaundry.com/i-10404486-maytag-23001580-washer-washer.html
http://www.pwslaundry.com/i-10405482-maytag-23001582-washer-washer.html
http://www.pwslaundry.com/i-10404153-maytag-23001264-washer-bolt-m8x20.html
http://www.pwslaundry.com/i-10404152-maytag-23001263-washer-washer.html
http://www.pwslaundry.com/i-10401756-maytag-23001265-washer-washer.html
http://www.pwslaundry.com/i-10401755-maytag-23001266-washer-nut-m8.html
http://www.pwslaundry.com/i-10404834-maytag-23002211-washer-swivel-cable.html
http://www.pwslaundry.com/i-10405291-maytag-23001551-washer-gutter-cable.html
http://www.pwslaundry.com/i-10406379-maytag-23001361-washer-bolt.html
http://www.pwslaundry.com/i-10406378-maytag-23001056-washer-ring-shaft-locking.html
http://www.pwslaundry.com/i-10405483-maytag-23001552-washer-rivet-blind.html
http://www.pwslaundry.com/i-10401527-maytag-23001550-washer-sticker-service-warning.html
http://www.pwslaundry.com/i-10405484-maytag-23001555-washer-bolt.html
http://www.pwslaundry.com/i-10405485-maytag-23001093-washer-shield-emergency-stop.html
http://www.pwslaundry.com/i-10405486-maytag-23002185-washer-shield-primus.html
http://www.pwslaundry.com/i-10404230-maytag-23002187-washer-bolt-firing.html
http://www.pwslaundry.com/i-10401527-maytag-23001550-washer-sticker-service-warning.html
http://www.pwslaundry.com/i-10401527-maytag-23001550-washer-sticker-service-warning.html

	Maytag MFX80PNAVS 14 - FRAME & COVER ASSEMBLY

